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& [ B A BE KT 6. 50 1.00 0. 50 1.00 24.0 0.0 0. 24.0 24. 0|7 27 7L L
0.0 0 24 3.25 1. 50 0.75

18 [ B A BE KT 6. 50 1.00 1.50 1.00 55.0 0.0 0. 55.0 79.0|7 2 7 7 /L L
0.0 24 84 3.25 1. 50 0.75

& [ B A BE KT 6. 50 1.00 3. 50 1.00 100. 0 0.0 0. 100. 0 179. 0| 7 A 7 7 b | Ak
0.0 84 100 6. 50 2.00 1.00

& o] B A BE KT 6. 50 3. 00 0. 00 1.50 100. 0 0.0 0. 100. 0 279.0|7 A 7 7 )L gk
0.1 100 100 6. 50 2.00 1. 50

& i) B A BE KT 6. 50 2. 00 0. 00 1.50 100. 0 0.0 0. 100. 0 379.0|7 A 7 7 )L Lk
0.2 100 100 6. 50 2.00 1. 50

A& i) B A BE KT 9.75 2. 00 1.00 1.25 100. 0 0.0 0. 100. 0 479. 0|7 A 7 7 )L 1k
0.3 100 100 6. 50 2.00 1.25

& [ B A BE KT 6. 50 2. 00 3. 50 1.00 100. 0 0.0 0. 100. 0 579.0|7 A 7 7 )L gk
0.4 100 100 6. 50 2. 00 1. 00

LY NI 6. 50 2. 00 3. 50 1.00 100. 0 0.0 0. 100. 0 679.0|7 27 7 /L Mg
0.5 100 100 6. 50 2. 00 1. 00

(Y= NI 6. 50 2. 50 0. 00 1.00 100. 0 0.0 0. 100. 0 779.0|7 A7 7 )L Mg
0.6 100 102 9.75 2. 00 1. 00

(Y= NI 9.75 3.50 0. 00 1.00 100. 0 0.0 0. 100. 0 879.0|7 27 7 /L Mk
0.7 102 203 6. 50 2. 00 1. 00

Y SE S NI 6. 50 2. 00 2. 00 1.00 100. 0 0.0 0. 100. 0 979.0|7 2 7 7 /L Mdd%E
0.7 203 1 6. 50 2. 00 1. 00

(Y= NI 6. 50 2. 00 2. 00 1.00 100. 0 0.0 0. 100. 0 1,079. 07 2 7 7 )L ik
1.0 1 10 6. 50 2. 00 1. 00

(Y= NI 6. 50 2. 00 1.00 1.00 100. 0 0.0 0. 100. 0 1,179. 07 2 7 7 )L ik
1.1 10 ~ 2 6. 50 2. 00 1. 00

(Y= NI 6. 50 2. 00 2. 00 1.00 100. 0 0.0 0. 100. 0 1,279. 07 2 7 7 )L ik
1.2 2 ~ 1 6. 50 2. 00 1. 00
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& [ B A BE KT 3. 00 3. 00 0. 00 1.90 89.0 0.0 0.0 89.0 1,368.0|7 & 7 7 )L sk
1.3 1~ 1.3 89 3.00 3.20 1.50
8 [ B A BE KT 6. 50 3. 00 2. 00 1.00 -40.5 0.0 49.5 9.0 1,377.0|7 A 7 7 )L sk
1.3 89 ~ 1.4 1 6. 50 3. 00 1.00
& [ B A BE KT 3. 00 3. 00 0. 00 1.90 37.0 0.0 0.0 37.0 1,414. 0|7 A 7 7 )L sk
1.4 1~ 1.4 38 3.00 3.20 1. 50
& [ B A BE KT 6. 50 2. 00 2. 00 1.00 64. 0 0.0 0.0 64. 0 1, 478. O|HEAK P Gl ks
1.4 38 ~ 1.4 102 6. 50 2.00 1. 00
& i) B A BE KT 6. 50 2. 00 2. 00 1.00 100.0 0.0 0.0 100. 0 1, 578. O|HEAK MGl ks
1.4 102 ~ 1.6 1 6. 50 2.00 1.00
A8 o] B A BE KT 6. 50 2. 00 0. 00 1.00 100.0 0.0 0.0 100. 0 1, 678. O|HEA M Akt
1.6 1~ 1.7 1 6. 50 2.00 1. 00
18 o] B A BE KT 6. 50 3. 00 2. 00 1.00 96. 9 0.0 3.1 100. 0 1, 778. O|HEA PGtk
1.7 1~ 1.7 101 6. 50 1. 50 1. 00
LY NI 6. 50 1. 80 2. 00 1. 00 100. 0 0.0 0.0 100. 0 1, 878. O|HEA P& %E
1.7 101 ~ 1.8 101 6. 50 2. 00 1. 00
LY NI 6. 50 2.00 2. 00 1. 00 100. 0 0.0 0.0 100. 0 1, 978. O HEAK Ph&d %
1.8 101 ~ 1.9 100 6. 50 1. 50 1. 00
(Y= N 6. 50 2. 00 2. 00 1. 00 100. 0 0.0 0.0 100. 0 2, 078. 0| Bk &2
1.9 100 ~ 2.0 100 6. 50 2. 00 1. 00
(Y= NI 6. 50 2.00 2. 00 6. 50 100. 0 0.0 0.0 100. 0 2, 178. 0| Bk &2k
2.0 100 ~ 2.1 100 6. 50 2. 00 1. 00
(Y= NI 6. 50 2. 00 2. 00 1. 00 94.0 0.0 6.0 100. 0 2, 278. 0| Bk &L
2.1 100 ~ 2.2 100 6. 50 2. 00 1. 00
(Y= NI 6. 50 2. 00 2. 00 1. 00 100. 0 0.0 0.0 100. 0 2, 378. 0| Bk ME&f2E
2.2 100 ~ 2.3 100 6. 50 2. 00 1. 00
(Y= NI 6. 50 2. 00 2. 00 1. 00 100. 0 0.0 0.0 100. 0 2, 478. 0| HE/k ME&f2E
2.3 100 ~ 2.4 100 6. 50 2. 00 1. 00
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& [ B A BE KT 6. 50 2. 00 2. 00 1.00 100.0 0.0 0.0 100. 0 2, 578. 0|k Mg
2.4 100 ~ 2.6 3 6. 50 3.00 1. 00

8 [ B A BE KT 6. 50 2. 00 2. 00 1.00 100.0 0.0 0.0 100. 0 2, 678. 0|k PEA:
2.6 3 ~ 2.6 100 6. 50 2.00 1. 00

& [ B A BE KT 6. 50 2. 00 2. 00 1.00 94. 6 0.0 5.4 100. 0 2, 778. O|HEak Pk
2.6 100 ~ 2.7 100 9.75 2.00 1.00

& [ B A BE KT 9.75 2. 00 2. 00 1.00 100.0 0.0 0.0 100. 0 2, 878. 0|k P
2.7 100 ~ 2.9 1 6. 50 2.00 1. 00

& i) B A BE KT 6. 50 3. 00 0. 00 1.00 80. 0 0.0 0.0 80.0 2, 958. 0|k P
2.9 1~ 2.9 82 9.75 3. 00 1.00

A8 o] B A BE KT 6. 50 2. 00 2. 00 1.00 115.2 0.0 4.8 120. 0 3, 078. O|HErk P
2.9 82 ~ 3.1 2 6. 50 2.00 1. 00

18 o] B A BE KT 6. 50 2. 00 2. 00 1.00 100.0 0.0 0.0 100. 0 3, 178. 0|k Pk
3.1 2 ~ 3.2 3 9.75 3.00 1. 00

LY NI 6. 50 2.00 1.00 1. 00 100. 0 0.0 0.0 100. 0 3, 278. 0| Bk A2
3.2 3 ~ 3.3 3 9.75 2. 00 1. 00

LY NI 3.00 3.00 0. 00 1. 90 49.0 0.0 0.0 49.0 3, 327. 0| Hlak AL
3.3 3 ~ 3.3 52 3.00 3.20 1. 50

(Y= N 3. 00 3.00 0. 00 1.90 -0.4 0.0 35. 4 35.0 3,362.0|7 A 7 7 /L MaLE
3.3 52 ~ 3.3 87 3.00 3.20 1. 50

(Y= NI 6. 50 2.00 2. 00 1. 00 16. 0 0.0 0.0 16. 0 3, 378. 0| Hlak MEAf2E
3.3 87 ~ 3.4 7 6. 50 2. 00 1. 00

(Y= NI 6. 50 2. 00 2. 00 1.75 100. 0 0.0 0.0 100. 0 3, 478. 0| Bk ME&f2E
3.4 7~ 3.5 6 6. 50 2. 00 1.75

(Y= NI 6. 50 2. 00 2. 00 1.75 100. 0 0.0 0.0 100. 0 3, 578. 0| Hl/k ME&f2E
3.5 6 ~ 3.6 11 6. 50 2. 00 1.75

(Y= NI 6. 50 2. 00 2. 00 1.75 100. 0 0.0 0.0 100. 0 3, 678. 0| HlE/k MEAf2E
3.6 11 ~ 3.7 10 6. 50 2. 00 1.75
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& [ B A BE KT 6. 50 2. 00 2. 00 1.75 100.0 0.0 0.0 100. 0 3, 778. O| ek P
3.7 10 ~ 3.8 8 6. 50 2.00 1.75
8 [ B A BE KT 6. 50 2. 00 1.05 1.05 100.0 0.0 0.0 100. 0 3, 878. 0|k P
3.8 8 ~ 3.9 5 9.75 2.00 1. 50
& [ B A BE KT 6. 50 2. 00 3. 00 1.00 100.0 0.0 0.0 100. 0 3, 978. O|HEak PEA:
3.9 5 ~ 4.0 5 6. 50 2.00 1.15
& [ B A BE KT 6. 50 2. 00 1.00 0.95 100.0 0.0 0.0 100. 0 4, 078. 0|k Mg
4.0 5 ~ 4.1 4 9.75 2.00 1. 50
& i) B A BE KT 6. 50 2. 00 4.00 0.95 95.7 0.0 4.3 100. 0 4, 178. O|HEok Mg
4.1 4 ~ 4.2 3 6. 50 2.00 1.00
A8 o] B A BE KT 6. 50 2. 00 1.00 1.00 100.0 0.0 0.0 100. 0 4, 278. O|HEok P
4.2 3 ~ 4.3 6 6. 50 2.00 1. 00
18 o] B A BE KT 6. 50 2. 00 2. 00 1.75 100.0 0.0 0.0 100. 0 4, 378. O|HEak Mg
4.3 6 ~ 4.4 5 6. 50 2. 00 1.75
LY NI 6. 50 2.00 2. 00 1.75 81.0 0.0 0.0 81.0 4, 459. 0| Bk &2
4.4 5 ~ 4.4 86 6. 50 2. 00 1. 00
LY NI 6. 50 2.00 2. 00 1.75 100. 0 0.0 0.0 100. 0 4, 559. 0| Pk A2
4.4 86 ~ 4.6 4 6. 50 2. 00 1. 00
(Y= N 6. 50 3.00 2. 00 1.75 100. 0 0.0 0.0 100. 0 4, 659. 0| Pk M2
4.6 4 ~ 4.7 4 6. 50 2. 00 1.75
(Y= NI 6. 50 2.20 0. 00 0. 50 100. 0 0.0 0.0 100. 0 4, 759. 0| Pk &2
4.7 4 ~ 4.8 4 6. 50 3.00 0. 50
(Y= NI 6. 50 3.00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 4,999. 0|7 A 7 7 /L %L
4.8 4 ~ 4.7 60 6. 50 3.00 1. 00
(Y= NI 3.25 1.00 0. 00 0. 50 40. 0 0.0 0.0 40. 0 4,799.0|7 A7 7 /L %L
4.7 60 ~ 4.8 0 3.25 3.00 0. 50
(Y= NI 3.25 1.00 0. 00 0. 50 98.0 0.0 2.0 100. 0 4,899. 0|7 A 7 7 /L MaiLE
4.8 0 ~ 4.9 0 3.25 0. 00 0. 50
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& [ B A BE KT 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 5,099. 0| 7 2 7 7 /L Ak
4.9 0 ~ 5.0 2 3.25 1. 50 0.50
8 [ B A BE KT 3.25 2.30 0. 00 0.15 100. 0 0.0 0.0 100. 0 5,199. 0|7 2 7 7 /L ALk
5.0 2 ~ 5.1 2 3.25 1.75 0.50
& [ B A BE KT 3.20 2.30 0. 00 0. 50 100. 0 0.0 0.0 100. 0 5,299. 0|7 A 7 7 /b ALk
5.1 2 ~ 5.2 2 3.20 1.75 0.50
& [ B A BE KT 3.20 1.00 0. 00 0.50 100. 0 0.0 0.0 100. 0 5,399. 0|7 2 7 7 /b ALk
5.2 2 ~ 5.3 2 3.20 1.75 0. 50
& i) B A BE KT 3.20 1.00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 5,499. 0|7 2 7 7 )b Ak
5.3 2 ~ 5. 4 2 3.20 2.25 0. 50
A8 o] B A BE KT 3. 10 1.00 0. 00 0. 50 98. 2 0.0 1.8 100. 0 5,599. 0| 7 2 7 7 /L | Ak
5. 4 2 ~ 5.5 16 3.10 2.25 0. 50
18 o] B A BE KT 3.10 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 5,699. 0|7 2 7 7 /L | Ak
5.5 16 ~ 5.6 2 3.10 2.75 0.50
LY NI 3. 10 1.40 0. 00 0. 50 100. 0 0.0 0.0 100. 0 5,799.0|7 A 7 7 /L %L
5.6 2 ~ 5.7 3 3.10 2.75 0. 50
LY NI 3.10 0. 00 0. 00 2.00 97.1 0.0 2.9 100. 0 5, 899. 0| HlE/k &2
5.7 3 ~ 5.7 103 3.10 2.25 0. 50
(Y= N 3.10 0. 00 0. 00 2. 00 97.2 0.0 2.8 100. 0 5, 999. 0| Pk A2
5.7 103 ~ 5.8 83 3.10 2.25 0. 50
(Y= NI 3.10 0. 00 0. 00 1.75 40. 0 0.0 0.0 40. 0 6, 039. 0| Hl/k &2
5.8 83 ~ 5.9 40 3.10 2. 00 0. 50
(Y= NI 3.10 0. 00 0. 00 1.75 58.0 0.0 2.0 60. 0 6, 099. 0| Hl/k &2
5.9 40 ~ 6.0 1 3.10 2. 00 0. 50
(Y= NI 3.10 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 6, 199. 0| Hl/k a2
6.0 1~ 6.1 15 3.10 1.75 0. 50
(Y= NI 3.00 0. 00 0. 00 1. 00 100. 0 0.0 0.0 100. 0 6, 299. 0| HlE/k &2
6.1 15 ~ 6.2 27 3.00 1.75 0. 50
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& [ B A BE KT 3. 00 0. 00 0. 00 1.50 98.0 0.0 2.0 100. 0 6, 399. O|HEsk P
6.2 27 ~ 6.3 27 3.00 1. 50 0. 50

8 [ B A BE KT 3. 00 0. 00 0. 00 1.00 97.9 0.0 2.1 100. 0 6, 499. O|HE7Kk Mg
6.3 27 ~ 6.4 27 3.00 1.75 0.50

& [ B A BE KT 3. 00 0. 00 0. 00 1.00 100.0 0.0 0.0 100. 0 6, 599. O|HEsk PEAA:
6.4 27 ~ 6.5 12 3.00 1.75 0.50

& [ B A BE KT 3. 00 0. 00 0. 00 1.00 100.0 0.0 0.0 100. 0 6, 699. 0| HEzK PEAfA:
6.5 12 ~ 6.6 21 3.00 1.50 0.50

& i) B A BE KT 3. 00 0. 00 0. 00 0.75 100.0 0.0 0.0 100. 0 6, 799. 0|7k P
6.6 21 ~ 6.7 10 3.00 1. 50 0. 50

A8 o] B A BE KT 3. 00 0. 00 0. 00 1.50 94. 6 0.0 5.4 100. 0 6, 899. O|HEsKk MEA:
6.7 10 ~ 6.7 102 3.00 0. 00 1. 50

18 o] B A BE KT 3. 00 0. 00 0. 00 1.75 97.5 0.0 2.5 100. 0 6, 999. 0|k PEAA:
6.7 102 ~ 6.9 1 3.00 0. 00 1. 50

LY NI 3.30 2.00 0. 00 0.75 100. 0 0.0 0.0 100. 0 7,099. 0| ek Mg
6.9 1~ 7.0 0 3.30 0. 00 1.75

LY NI 3.30 0. 00 0. 00 1. 00 96. 6 0.0 3.4 100. 0 7,199. 0| ek Mg
7.0 0 ~ 7.1 1 3.30 0. 00 2. 00

(Y= N 3.30 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0 7,299. 0| ek Mg
7.1 1~ 7.2 3 3.30 0. 00 0. 50

(Y= NI 3.30 0. 00 0. 00 2.00 88. 1 0.0 11.9 100. 0 7, 399. 0| ek Mg
7.2 3 ~ 7.2 103 3.30 0. 00 0.75

(Y= NI 3.30 0. 00 0. 00 1.75 100. 0 0.0 0.0 100. 0 7,499. 0| ek Mg
7.2 103 ~ 7.4 5 3.30 0. 00 1. 40

(Y= NI 3.35 0. 00 0. 00 1.75 98.0 0.0 2.0 100. 0 7,599. 0| ek Mg
7.4 5 ~ 7.5 8 3.35 0. 00 1. 40

(Y= NI 3.35 0. 00 0. 00 1. 20 100. 0 0.0 0.0 100. 0 7,699. 0| PEAk Mg
7.5 8 ~ 7.5 108 3.35 1. 30 1.75
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& [ B A BE KT 3.03 0. 00 0. 00 0.96 100.0 0.0 0.0 100. 0 7, 799. 0| ek Mt
7.5 108 ~ 7.6 90 3.01 1. 34 0.52

8 [ B A BE KT 3.07 0. 00 0. 00 0.92 100.0 0.0 0.0 100. 0 7, 899. 0| Pk Mt
7.6 90 ~ 7.8 0 2.98 1.16 0.35

& [ B A BE KT 3.04 0. 00 0. 00 1.15 100.0 0.0 0.0 100. 0 7,999. 0| Pk Meaids
7.8 0 ~ 7.9 0 3.00 1. 26 0.48

& [ B A BE KT 3.08 0. 00 0. 00 0.57 100.0 0.0 0.0 100. 0 8, 099. 0| HEsk Mk
7.9 0 ~ 8.0 0 3.00 1.25 0. 50

& i) B A BE KT 3.02 0. 00 0. 00 1.16 100.0 0.0 0.0 100. 0 8, 199. 0| HEsk Pk
8.0 0 ~ 8.1 0 3.02 1.49 0.52

A8 o] B A BE KT 3.04 0. 00 0. 00 2.07 97.3 0.0 2.7 100. 0 8, 299. 0| HEsk PEA:
8.1 0 ~ 8.2 0 3.07 1.28 0.34

18 o] B A BE KT 3. 04 0. 00 0. 00 0.91 100.0 0.0 0.0 100. 0 8, 399. 0| HEsk PEAk:
8.2 0 ~ 8.3 0 3.06 0. 00 1.18

LY NI 3.08 0. 00 0. 00 0.85 97.5 0.0 2.5 100. 0 8, 499. 0| Hl/k A2
8.3 0 ~ 8. 4 0 3.03 0. 00 0.76

LY NI 3.03 0. 00 0. 00 1.16 100. 0 0.0 0.0 100. 0 8, 599. 0| HlE/k A%
8. 4 0 ~ 8.5 0 3.03 0. 00 0.25

(Y= N 3.05 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 8, 699. 0| HlE/k &z
8.5 0 ~ 8.6 0 3.11 0. 00 1.15

(Y= NI 2.85 0. 00 0. 00 0. 79 100. 0 0.0 0.0 100. 0 8, 799. 0| Hl/k &2
8.6 0 ~ 8.7 0 3.12 0. 00 1.19

(Y= NI 2.98 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0 8, 899. 0| sk &%
8.7 0 ~ 8.8 0 2. 70 0. 00 1. 20

(Y= NI 2. 77 0. 00 0. 00 0.76 100. 0 0.0 0.0 100. 0 8, 999. 0| Hl/k A2
8.8 0 ~ 8.9 0 2. 80 0. 00 1. 20

(Y= NI 3.03 0. 00 0. 00 2.20 95.5 0.0 4.5 100. 0 9, 099. 0| HlE/k &%
8.9 0 ~ 9.0 0 3.07 0. 00 0.75
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& [ B A BE KT 3.25 2. 00 0. 00 0.55 100.0 0.0 0.0 100. 0 9, 199. O|HEzk P
9.0 0 ~ 9.1 0 2.82 0. 00 1.75

8 [ B A BE KT 3.05 0. 00 0. 00 0.87 100.0 0.0 0.0 100. 0 9, 299. 0| HEzk PEAfAE
9.1 0 ~ 9.2 0 3.10 0. 00 2.32

& [ B A BE KT 3.05 0. 00 0. 00 2.28 100.0 0.0 0.0 100. 0 9, 399. 0| HEsk PEAA:
9.2 0 ~ 9.3 0 3.07 0. 00 2.46

& [ B A BE KT 2.95 0. 00 0. 00 0.55 100.0 0.0 0.0 100. 0 9, 499. 0|7k P
9.3 0 ~ 9. 4 0 3.10 0. 00 0. 60

& i) B A BE KT 3. 00 0. 00 0. 00 0. 80 100.0 0.0 0.0 100. 0 9, 599. 0|k P
9. 4 0 ~ 9.5 0 3.05 2.20 0. 50

A8 o] B A BE KT 3.05 0. 00 0. 00 0. 80 100.0 0.0 0.0 100. 0 9, 699. 0|7k P
9.5 0 ~ 9.6 0 3.00 2.20 0.70

18 o] B A BE KT 3.13 0. 00 0. 00 2.46 98. 2 0.0 1.8 100. 0 9, 799. 0|7k PEAfA:
9.6 0 ~ 9.7 0 2.90 0. 00 1.10

LY NI 2.95 0. 00 0. 00 1.51 95.5 0.0 4.5 100. 0 9, 899. 0| HlE/k A2
9.7 0 ~ 9.8 0 3.07 0. 00 2.78

LY NI 3.00 0. 00 0. 00 0.97 100. 0 0.0 0.0 100. 0 9, 999. 0| Pk A2
9.8 0 ~ 9.9 0 3.00 0. 00 0.74

(Y= N 3.05 0. 00 0. 00 0.76 100. 0 0.0 0.0 100. 0f 10, 099. O[HEAK ML
9.9 0 ~ 10.0 0 2.95 0. 00 1.21

(Y= NI 3.00 0. 00 0. 00 0. 65 100. 0 0.0 0.0 100. 0f 10, 199. O[HEAKMEA2E
10.0 0 ~ 10. 1 0 2.70 1.99 0. 50

(Y= NI 3.05 0. 00 0. 00 2.01 100. 0 0.0 0.0 100. 0 10, 299. O[HEAK ML
10. 1 0 ~ 10. 2 0 2.70 1.90 0.50

(Y= NI 3.00 0. 00 0. 00 0. 60 100. 0 0.0 0.0 100. 0 10, 399. O[HEAK ML
10. 2 0 ~ 10.3 0 2.75 1.90 0.45

(Y= NI 3. 04 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 10, 499. O[HEAK ML
10. 3 0 ~ 10. 4 0 2.75 1. 40 0.55
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& [ B A BE KT 3.12 0. 00 0. 00 1.51 100.0 0.0 0.0 100.0| 10, 599. O|HEsK PEAi:
10. 4 0 ~ 10.5 0 2.61 1.45 0. 64

8 [ B A BE KT 3.12 0. 00 0. 00 1.48 95. 6 0.0 4.4 100.0| 10, 699. O|HEsK PEA:
10.5 0 ~ 10. 6 0 2.65 1. 47 0.55

& [ B A BE KT 2.73 0. 00 0. 00 1.07 100. 0 0.0 0.0 100.0|  10,799.0|7 27 7 /L &k
10. 6 0 ~ 10. 7 0 2.75 0. 00 1.57

& [ B A BE KT 2.45 0. 00 0. 00 1.01 96. 9 0.0 3.1 100.0|  10,899.0|7 27 7 /L &k
10. 7 0 ~ 10. 8 0 2.94 0. 00 0. 64

& i) B A BE KT 2. 60 0. 00 0. 00 0.88 100. 0 0.0 0.0 100.0|  10,999.0|7 27 7 /L &k
10. 8 0 ~ 10.9 0 2.45 0. 00 0.78

A8 o] B A BE KT 2.47 0. 00 0. 00 0.82 100. 0 0.0 0.0 100.0|  11,099.0|7 27 7 /L &k
10.9 0 ~ 11.0 0 2. 60 0. 00 0.84

18 o] B A BE KT 2.70 0. 00 0. 00 0.75 100. 0 0.0 0.0 100.0|  11,199.0|7 27 7 /L &k
11.0 0 ~ 11.1 0 2.48 0. 00 0. 82

LY NI 2. 90 0. 00 0. 00 1.15 100. 0 0.0 0.0 100.0|  11,299.0|7 27 7 /L &%k
11.1 0 ~ 11.2 0 2.99 0. 00 0. 80

LY NI 2.95 0. 00 0. 00 2.05 92.8 0.0 7.2 100.0|  11,399.0|7 27 7 /L &tk
11.2 0 ~ 11.3 0 3.10 0. 00 2.30

(Y= N 2.95 0. 00 0. 00 0.96 96. 6 0.0 3.4 100.0|  11,499.0|7 % 7 7 /L L
11.3 0 ~ 11. 4 0 3.07 0. 00 1.77

(Y= NI 3. 00 0. 00 0. 00 1.91 96. 0 0.0 4.0 100.0|  11,599.0|7 & 7 7 /L &L
11. 4 0 ~ 11.5 0 3. 04 0. 00 2.21

(Y= NI 3. 00 0. 00 0. 00 0.91 97. 4 0.0 2.6 100.0|  11,699.0|7 % 7 7 /L L
11.5 0 ~ 11.6 0 3.00 0. 00 2.21

(Y= NI 3. 00 0. 00 0. 00 1.95 97.2 0.0 2.8 100.0|  11,799.0|7 % 7 7 /L &L
11.6 0 ~ 11.7 0 3. 02 0. 00 1.63

(Y= NI 3. 00 0. 00 0. 00 1.80 97.0 0.0 3.0 100.0|  11,899.0|7 % 7 7 /L &L
11.7 0 ~ 11.8 0 3. 02 0. 00 1. 00
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& [ B A BE KT 3. 00 0. 00 0. 00 2.23 100. 0 0.0 0.0 100.0|  11,999.0|7 27 7 /L &tk
11.8 0 ~ 11.9 0 3.03 0. 00 1. 67

8 [ B A BE KT 3. 00 0. 00 0. 00 2.23 100. 0 0.0 0.0 100.0|  12,099.0|7 27 7 /L &tk
11.9 0 ~ 12.0 0 3. 04 0. 00 2.05

& [ B A BE KT 3. 00 0. 00 0. 00 0. 99 100. 0 0.0 0.0 100.0|  12,199.0|7 27 7 /L &k
12.0 0 ~ 12.1 0 3.03 0. 00 0.85

& [ B A BE KT 3.05 0. 00 0. 00 0.68 100. 0 0.0 0.0 100.0|  12,299.0|7 27 7 /L &tk
12.1 0 ~ 12.2 0 2.96 0. 00 0.94

& i) B A BE KT 3. 00 0. 00 0. 00 0. 59 96. 0 0.0 4.0 100.0|  12,399.0|7 27 7 /L ik
12.2 0 ~ 12.3 0 3.06 0. 00 1.89

A8 o] B A BE KT 3.04 0. 00 0. 00 1.17 100. 0 0.0 0.0 100.0|  12,499.0|7 27 7 /L ik
12.3 0 ~ 12. 4 0 3. 02 0. 00 0.99

18 o] B A BE KT 3.01 0. 00 0. 00 1.42 -60.5 0.0 82.5 22.0|  12,521.0|7 X 7 7 /L MLk
12. 4 0 ~ 12.4 22 3.03 0. 00 1. 07

LY NI 3. 00 0. 00 0. 00 1.11 31.0 0.0 0.0 31.0|  12,552.0|7 &2 7 7 /L %L
12.4 22 ~ 12.4 53 3.00 0. 00 1.09

LY NI 3.01 0. 00 0. 00 1.42 47.0 0.0 0.0 47.0|  12,599.0|7 & 7 7 /L %L
12.4 53 ~ 12.5 0 3.03 0. 00 1. 07

(Y= N 2. 99 0. 00 0. 00 0.86 100. 0 0.0 0.0 100.0|  12,699.0|7 % 7 7 /L &L
12.5 0 ~ 12.6 0 3.03 0. 00 2.39

(Y= NI 3.02 0. 00 0. 00 0.87 100. 0 0.0 0.0 100.0|  12,799.0|7 % 7 7 /L &L
12.6 0 ~ 12.7 0 3. 02 3. 02 0. 65

(Y= NI 3.07 0. 00 0. 00 0.89 100. 0 0.0 0.0 100.0|  12,899.0|7 % 7 7 /L L
12.7 0 ~ 12.8 0 2.95 0. 00 0.85

(Y= NI 3. 00 0. 00 0. 00 1.00 100. 0 0.0 0.0 100.0|  12,999.0|7 % 7 7 /L &L
12.8 0 ~ 12.9 0 3.03 0. 00 0. 87

(Y= NI 2. 99 0. 00 0. 00 0.92 100. 0 0.0 0.0 100.0|  13,099.0|7 % 7 7 /L &L
12.9 0 ~ 13.0 0 3. 04 0. 00 0.85
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& [ B A BE KT 3. 00 0. 00 0. 00 1.00 97.3 0.0 2.7 100.0|  13,199.0|7 27 7 /L &tk
13.0 0 ~ 13.1 0 3.00 0. 00 0.91

8 [ B A BE KT 3.03 0. 00 0. 00 0.47 93.7 0.0 6.3 100.0|  13,299.0|7 27 7 /L ik
13.1 0 ~ 13.2 0 3.10 0. 00 1.54

& [ B A BE KT 2. 99 0. 00 0. 00 1.59 97. 4 0.0 2.6 100.0|  13,399.0|7 27 7 /L &k
13.2 0 ~ 13.3 0 3.05 0. 00 2.15

& [ B A BE KT 3.05 0. 00 0. 00 1.54 100. 0 0.0 0.0 100.0|  13,499.0|7 27 7 /L itk
13.3 0 ~ 13. 4 0 3.00 0. 00 0. 65

& i) B A BE KT 3.08 0. 00 0. 00 0.83 100. 0 0.0 0.0 100.0|  13,599.0|7 27 7 /L &k
13. 4 0 ~ 13.5 0 3.01 0. 00 1.59

A8 o] B A BE KT 3.02 0. 00 0. 00 0. 90 100. 0 0.0 0.0 100.0|  13,699.0|7 27 7 /L &k
13.5 0 ~ 13.6 0 3.04 0. 00 0.99

18 o] B A BE KT 3.05 0. 00 0. 00 0.92 100. 0 0.0 0.0 100.0|  13,799.0|7 27 7 /L ik
13.6 0 ~ 13.7 0 3.03 0. 00 1.75

LY NI 3. 00 0. 00 0. 00 0. 95 100. 0 0.0 0.0 100.0|  13,899.0|7 27 7 /L itk
13.7 0 ~ 13.8 0 3.01 0. 00 1.63

LY NI 2. 99 0. 00 0. 00 1.01 100. 0 0.0 0.0 100.0|  13,999.0|7 27 7 /L itk
13.8 0 ~ 13.9 0 3. 04 0. 00 0.89

(Y= N 2. 99 0. 00 0. 00 0.94 100. 0 0.0 0.0 100.0|  14,099.0|7 % 7 7 /L &L
13.9 0 ~ 14.0 0 3.07 0. 00 1. 60

(Y= NI 3.05 0. 00 0. 00 1.05 100. 0 0.0 0.0 100.0|  14,199.0|7 % 7 7 /L L
14.0 0 ~ 14.1 0 3.05 0. 00 0.63

(Y= NI 3.05 0. 00 0. 00 1.05 100. 0 0.0 0.0 100.0|  14,299.0|7 % 7 7 /L L
14.1 0 ~ 14. 2 0 3.05 0. 00 0.63

(Y= NI 3. 00 0. 00 0. 00 1.05 100. 0 0.0 0.0 100.0|  14,399.0|7 % 7 7 /L ML
14. 2 0 ~ 14.3 0 3.00 0. 00 1.13

(Y= NI 3. 00 0. 00 0. 00 0.76 100. 0 0.0 0.0 100.0| 14, 499.0|7 % 7 7 /L L
14.3 0 ~ 14. 4 0 3.00 0. 00 0.90
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& [ B A BE KT 3. 00 0. 00 0. 00 1.05 100. 0 0.0 0.0 100.0|  14,599.0|7 27 7 /L &k
14. 4 0 ~ 14.5 0 3.00 0. 00 0. 84

8 [ B A BE KT 3. 00 0. 00 0. 00 0.95 100. 0 0.0 0.0 100.0|  14,699.0|7 27 7 /L &k
14.5 0 ~ 14. 6 0 3.00 0. 00 1.02

& [ B A BE KT 3. 10 0. 00 0. 00 0.75 97. 2 0.0 2.8 100.0|  14,799.0|7 27 7 /L &tk
14. 6 0 ~ 14.7 0 3.15 0. 00 1.56

& [ B A BE KT 3.05 1. 40 0. 00 0.30 100. 0 0.0 0.0 100.0|  14,899.0|7 27 7 /L &tk
14.7 0 ~ 14. 8 0 3.05 0. 00 0.94

& i) B A BE KT 3. 10 1.25 0. 00 0. 80 100. 0 0.0 0.0 100.0|  14,999.0|7 27 7 /L &tk
14. 8 0 ~ 14.9 0 3.10 1.00 1.38

A8 o] B A BE KT 3.25 1.65 0. 00 0.23 100. 0 0.0 0.0 100.0|  15,099.0|7 27 7 /L &k
14.9 0 ~ 15.0 0 3.25 0. 00 0.75

18 o] B A BE KT 2.95 2.50 0. 00 0.90 100. 0 0.0 0.0 100.0|  15,199.0|7 27 7 /L &k
15.0 0 ~ 15.1 0 2.95 0. 00 1. 84

LY NI 2.95 1.90 0. 00 0. 99 100. 0 0.0 0.0 100.0|  15,299.0|7 27 7 /L %k
15.1 0 ~ 15. 2 0 2.95 0. 00 1.82

LY NI 2.95 2. 00 0. 00 0. 50 50. 0 0.0 0.0 50.0| 15,349.0|7 % 7 7 /L %L
15. 2 0 ~ 15. 2 50 2.95 0. 00 2. 02

(Y= N 2.95 2. 00 0. 00 0. 50 50. 0 0.0 0.0 50. 0 15, 399. O[HEAKMEA 2
15. 2 50 ~ 15.3 0 2.95 0. 00 2. 02

(Y= NI 2.80 2. 50 0. 00 1.03 100. 0 0.0 0.0 100. 0 15, 499. O[HEAK ML
15.3 0 ~ 15. 4 0 2. 80 0. 00 1.73

(Y= NI 2.80 2. 50 0. 00 0. 60 100. 0 0.0 0.0 100. 0 15, 599. O[HEAK ML
15. 4 0 ~ 15.5 0 2. 80 0. 00 1. 46

(Y= NI 2.80 2. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0 15, 699. O|HEAKMEA2E
15.5 0 ~ 15. 6 0 2. 80 0. 00 1. 84

(Y= NI 2.85 2. 00 0. 00 0.98 100. 0 0.0 0.0 100. 0 15, 799. O|HEAKMEA 2
15. 6 0 ~ 15. 7 0 2.85 0. 00 2.36
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& [ B A BE KT 2. 90 0. 89 0. 00 0. 50 100.0 0.0 0.0 100.0| 15, 899. O|HEsK PEAf:
15. 7 0 ~ 15. 8 0 2.90 0. 00 1.19

8 [ B A BE KT 3. 00 1.80 0. 00 0.61 100.0 0.0 0.0 100.0| 15, 999. O|HEsK PEA:
15. 8 0 ~ 15.9 0 3.00 0. 00 1.25

& [ B A BE KT 3. 00 1.80 0. 00 0. 80 100.0 0.0 0.0 100.0| 16, 099. O|HEAK PEA:
15.9 0 ~ 16.0 0 3.00 0. 00 1. 64

& [ B A BE KT 3.05 1.80 0. 00 0. 65 100.0 0.0 0.0 100.0| 16, 199. O|HEK PEA:
16. 0 0 ~ 16. 1 0 3.00 0. 00 1. 62

& i) B A BE KT 3. 00 2. 00 0. 00 0.56 93.9 0.0 6.1 100.0| 16, 299. O|HEsK PEA:
16. 1 0 ~ 16. 2 0 3.00 0. 00 1.45

A8 o] B A BE KT 3. 00 2. 00 0. 00 0.41 100.0 0.0 0.0 100.0| 16, 399. O|HEK PEA:
16. 2 0 ~ 16.3 0 3.00 0. 00 1.21

18 o] B A BE KT 3.25 1. 40 0. 00 0. 50 100.0 0.0 0.0 100.0| 16, 499. O|HEK PEAfAE
16.3 0 ~ 16. 4 0 3.25 0. 80 0.25

LY NI 3.25 1. 50 0. 00 0.39 100. 0 0.0 0.0 100. 0| 16, 599. O|HE/K PEAfH%E
16. 4 0 ~ 16.5 0 3.25 1. 00 0. 54

LY NI 3.30 1. 50 0. 00 0.20 100. 0 0.0 0.0 100. 0| 16, 699. O|HE/K PEAH%E
16.5 0 ~ 16. 6 0 3.25 0. 00 1.55

(Y= N 3.30 1. 50 0. 00 0.51 100. 0 0.0 0.0 100. 0 16, 799. O[HEAK LA
16. 6 0 ~ 16. 7 0 3.25 0. 00 1. 40

(Y= NI 3.25 1.25 0. 00 0. 40 100. 0 0.0 0.0 100. 0 16, 899. O|HEAK A2
16. 7 0 ~ 16. 8 0 3.25 0. 00 1. 26

(Y= NI 3.40 1.25 0. 00 0.29 100. 0 0.0 0.0 100. 0 16, 999. O[HEAK LA
16. 8 0 ~ 16.9 0 3. 40 0. 00 1.51

(Y= NI 3.35 1. 00 0. 00 0.53 100. 0 0.0 0.0 100. 0 17, 099. O[HEAKMES2E
16.9 0 ~ 17.0 0 3.30 0. 00 1.70

(Y= NI 3.35 1. 10 0. 00 0. 47 100. 0 0.0 0.0 100. 0 17, 199. O|HEAKMEA2E
17.0 0 ~ 17.1 0 3.35 0. 00 1.55
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& [ B A BE KT 3.35 1.25 0. 00 0.32 100. 0 0.0 0.0 100.0|  17,299.0|7 27 7 /L &tk
17.1 0 ~ 17.2 0 3.30 0. 00 1.45

8 [ B A BE KT 3.35 1.00 0. 00 0.45 100. 0 0.0 0.0 100.0|  17,399.0|7 27 7 /L ik
17.2 0 ~ 17.3 0 3.35 0. 00 1. 40

& [ B A BE KT 3.30 1.00 0. 00 0.23 100. 0 0.0 0.0 100.0|  17,499.0|7 27 7 /L &k
17.3 0 ~ 17. 4 0 3.30 0. 00 1.38

& [ B A BE KT 3. 40 1.00 0. 00 0.48 100. 0 0.0 0.0 100.0|  17,599.0|7 27 7 /L &tk
17. 4 0 ~ 17.5 0 3.35 0. 00 1.37

& i) B A BE KT 3.35 1.25 0. 00 0.29 100. 0 0.0 0.0 100.0|  17,699.0|7 27 7 /L &tk
17.5 0 ~ 17.6 0 3.35 0. 00 0. 87

A8 o] B A BE KT 3.35 1.00 0. 00 0.20 100. 0 0.0 0.0 100.0|  17,799.0|7 27 7 /L ik
17.6 0 ~ 17.7 0 3.30 0. 00 1.98

18 o] B A BE KT 3.35 0. 80 0. 00 0.24 100. 0 0.0 0.0 100.0|  17,899.0|7 27 7 /L &k
17.7 0 ~ 17.8 0 3.30 0. 00 1.58

LY NI 3.35 0. 00 0. 00 0. 55 100. 0 0.0 0.0 100.0|  17,999.0|7 27 7 /L &%k
17.8 0 ~ 17.9 0 3.30 0. 00 1. 80

LY NI 3.15 0. 00 0. 00 0. 80 100. 0 0.0 0.0 100.0|  18,099.0|7 27 7 /L &tk
17.9 0 ~ 18.0 0 3.15 0. 00 0.70

(Y= N 3.25 0. 00 0. 00 1.96 100. 0 0.0 0.0 100.0|  18,199.0|7 % 7 7 /L L
18.0 0 ~ 18.1 0 3.20 0. 00 0.63

(Y= NI 3.15 0. 00 0. 00 0.77 100. 0 0.0 0.0 100.0|  18,299.0|7 % 7 7 /L &L
18.1 0 ~ 18. 2 0 3.15 0. 00 0. 88

(Y= NI 3.15 0. 00 0. 00 0.82 100. 0 0.0 0.0 100.0|  18,399.0|7 % 7 7 /L L
18. 2 0 ~ 18.3 0 3.15 0. 00 0.79

(Y= NI 3.05 0. 00 0. 00 1.25 100. 0 0.0 0.0 100.0|  18,499.0|7 % 7 7 /L &L
18.3 0 ~ 18. 4 0 3.00 0. 00 0.75

(Y= NI 3.05 0. 00 0. 00 1.00 100. 0 0.0 0.0 100.0|  18,599.0|7 % 7 7 /L &L
18. 4 0 ~ 18.5 0 3.00 0. 00 0.75
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& [ B A BE KT 3.05 0. 00 0. 00 1.50 100. 0 0.0 0.0 100.0|  18,699.0|7 27 7 /L &tk
18.5 0 ~ 18.6 0 3.00 0. 00 0.90

8 [ B A BE KT 3. 00 0. 00 0. 00 1.50 100. 0 0.0 0.0 100.0|  18,799.0|7 27 7 /L &tk
18.6 0 ~ 18.7 0 3.00 0. 00 1.00

& [ B A BE KT 3.05 0. 00 0. 00 1.25 96. 9 0.0 3.1 100.0|  18,899.0|7 27 7 /L &k
18.7 0 ~ 18.8 0 3.00 0. 00 1.00

& [ B A BE KT 3.05 1.50 0. 00 1.00 100. 0 0.0 0.0 100.0|  18,999.0|7 27 7 /L &tk
18.8 0 ~ 18.9 0 3.00 0. 00 1. 00

& i) B A BE KT 3.05 1.50 0. 00 1.00 100. 0 0.0 0.0 100.0|  19,099.0|7 27 7 /L &k
18.9 0 ~ 19.0 0 3.00 0. 00 1.00

A8 o] B A BE KT 3.05 0. 00 0. 00 1.00 100. 0 0.0 0.0 100.0|  19,199.0|7 27 7 /L &k
19.0 0 ~ 19.1 0 3.00 2.25 1. 00

18 o] B A BE KT 3.05 0. 00 0. 00 1.10 100. 0 0.0 0.0 100.0|  19,299.0|7 27 7 /L ik
19.1 0 ~ 19. 2 0 3.00 2.25 1. 00

LY NI 3.05 0. 00 0. 00 1.00 100. 0 0.0 0.0 100.0|  19,399.0|7 27 7 /L itk
19. 2 0 ~ 19.3 0 3.00 2.25 1. 00

LY NI 3.05 0. 00 0. 00 0. 90 100. 0 0.0 0.0 100.0|  19,499.0|7 27 7 /L %k
19.3 0 ~ 19. 4 0 3.00 0. 00 1.75

(Y= N 3.05 0. 00 0. 00 1.14 97.0 0.0 3.0 100.0|  19,599.0|7 % 7 7 /L L
19. 4 0 ~ 19.5 0 3.00 0. 00 0.53

(Y= NI 3.05 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100.0|  19,699.0|7 % 7 7 /L EfiLE
19.5 0 ~ 19. 6 0 3.00 0. 00 1. 00

(Y= NI 3.15 0. 00 0. 00 1.00 100. 0 0.0 0.0 100.0|  19,799.0|7 % 7 7 /L &L
19. 6 0 ~ 19. 7 0 3.10 0. 00 0.75

(Y= NI 2. 80 0. 00 0. 00 1.13 100. 0 0.0 0.0 100.0|  19,899.0|7 % 7 7 /L &L
19. 7 0 ~ 19. 8 0 2. 80 0. 00 0. 68

(Y= NI 3. 10 0. 00 0. 00 0.81 100. 0 0.0 0.0 100.0|  19,999.0|7 % 7 7 /L h&fiLE
19. 8 0 ~ 19.9 0 3.05 0. 00 0.90
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& [ B A BE KT 3. 10 0. 00 0. 00 0.75 93.8 0.0 6.2 100.0| 20, 099.0|7 27 7 /L &tk
19.9 0 ~ 20. 0 0 3.05 0. 00 1. 00

8 [ B A BE KT 3.05 0. 00 0. 00 1. 40 100. 0 0.0 0.0 100.0| 20, 199.0|7 27 7 /L &tk
20.0 0 ~ 20. 1 0 3. 00 0. 00 1.05

& [ B A BE KT 3.05 0. 00 0. 00 2.35 100. 0 0.0 0.0 100.0|  20,299.0|7 27 7 /L itk
20. 1 0 ~ 20. 2 0 3.05 0. 00 2. 40

& [ B A BE KT 3. 10 2. 00 0. 00 0.90 13.3 0.0 45. 7 59.0|  20,358.0|7 %7 7 /L Lk
20. 2 0~ 20. 2 59 3. 10 0. 00 1. 90

& i) B A BE KT 3. 50 2. 00 0. 00 0. 50 46. 0 0.0 0.0 46.0|  20,404.0|7 X 7 7 /L L
20. 2 59 ~ 20. 3 5 3.50 2. 00 0. 50

A8 o] B A BE KT 3. 10 1.80 0. 00 1.60 92.3 0.0 2.7 95.0|  20,499.0|7 %7 7 /L Nk
20. 3 5 ~ 20. 4 0 3.05 2. 40 1. 00

@l b 5 & 1% 3.05 0.00 0. 00 1.00 100.0 0.0 0.0 100. 0| 20, 599. 0|7 A7 7 /L &k
20. 4 0 ~ 20.5 0 3.05 0. 00 0. 80

RN S =X 3.05 0.00 0. 00 1.00 100.0 0.0 0.0 100. 0| 20, 699. 0|7 A7 7 /b &4k
20.5 0 ~ 20. 6 0 3.00 0. 00 0. 80

YR SRS ] 3.05 0. 00 0. 00 1. 40 100.0 0.0 0.0 100. 0|  20,799.0|7 A7 7 /b &k
20. 6 0 ~ 20. 7 0 3.00 0. 00 1. 70

RN S =X 3. 00 0.00 0. 00 1.65 100.0 0.0 0.0 100.0[  20,899. 07 %27 7 /v &%k
20. 7 0 ~ 20. 8 0 2.95 0. 00 1.77

RN S =X 3.05 0. 00 0. 00 2.23 79. 2 0.0 20. 8 100.0[ 20, 999. 07 =2 7 7 /v &tk
20. 8 0 ~ 20.9 0 3.00 0. 00 1. 50

RN S =X 3.05 0. 00 0. 00 2.05 100.0 0.0 0.0 100.0[  21,099. 07 =27 7 /v &tk
20.9 0 ~ 21.0 0 3.00 0. 00 1.99

RN S =X 3.05 0.00 0. 00 1.30 100.0 0.0 0.0 100.0[ 21, 199. 07 =27 7 /v &k
21.0 0 ~ 21. 1 0 3.00 0. 00 1.11

YR S-S ] 3.05 0. 00 0. 00 1.10 100.0 0.0 0.0 100.0[  21,299.0(7 27 7 /v &%k
21. 1 0 ~ 21.2 0 3.00 2. 50 0.95
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b 5 &% 3. 00 0.00 0. 00 1.05 95.9 0.0 4.1 100. 0|  21,399. 0|7 A7 7 /L &k
21.2 0 ~ 21.3 0 3. 00 2. 50 1. 40

A b 5 &% 3.05 0.00 0. 00 1.10 80. 0 0.0 0.0 80.0[ 21,479.0(7 27 7 v &k
21.3 0 ~ 21.3 80 3. 00 2. 50 0. 80

A b 5 &% 3.05 0.00 0. 00 1.05 120.0 0.0 0.0 120.0|  21,599. 0|7 A7 7 /b &k
21.3 80 ~ 21.5 0 3.05 2. 50 0.85

@l b 5 &% 3.05 0.00 0. 00 1.00 96. 0 0.0 4.0 100. 0|  21,699. 0|7 A7 7 /b &k
21.5 0~ 21.6 0 3. 00 0. 00 1. 10

@l b 5 &% 3.05 0.00 0. 00 1. 44 100.0 0.0 0.0 100. 0|  21,799.0|7 A7 7 /b &k
21.6 0~ 21.7 0 3. 00 0. 00 1. 70

@l b 5 &% 3.05 0.00 0. 00 0. 80 100.0 0.0 0.0 100.0|  21,899. 0|7 A7 7 /b &k
21.7 0 ~ 21.8 0 3. 00 0. 00 0. 90

@l b 5 & 1% 3. 00 0.00 0. 00 1.52 100.0 0.0 0.0 100. 0| 21,999. 0|7 A7 7 /b &k
21.8 0 ~ 21.9 0 3.00 0. 00 0. 90

RN S =X 3. 00 0.00 0. 00 1. 40 100.0 0.0 0.0 100. 0| 22,099. 0|7 A7 7 /b &k
21.9 0 ~ 22.0 0 3.00 0. 00 0. 90

YR SRS ] 3. 04 0. 00 0. 00 0.90 100.0 0.0 0.0 100. 0|  22,199.0|7 A7 7 /b b &4k
22.0 0 ~ 22. 1 0 2. 99 0. 00 0. 97

RN S =X 3.03 0.00 0. 00 0.92 100.0 0.0 0.0 100.0[  22,299.0(7 %27 7 /v &%k
22. 1 0 ~ 22. 2 0 3.00 0. 00 0.92

RN S =X 3. 00 0. 00 0. 00 0.97 100.0 0.0 0.0 100.0[  22,399.0(7 27 7 /v &%k
22. 2 0 ~ 22.3 0 3.02 0. 00 0.93

RN S =X 2. 94 0. 00 0. 00 1.26 16.0 0.0 30.0 46. 0  22,445. 0|7 A7 7 v &%k
22.3 0 ~ 22.3 46 3.10 0. 00 0. 96

RN S =X 3. 00 1.52 0. 00 0.77 30.0 0.0 0.0 30.0[  22,475. 0|7 A7 7 v b A%
22.3 46 ~ 22.3 76 3.00 1.52 0. 79

YR S-S ] 3.26 1.49 0. 00 1.03 24.0 0.0 0.0 24.0 22,499, 0|HEAKMEAE
22.3 76 ~ 22. 4 0 3.27 1.47 1.85
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b 5 &% 3.26 1. 49 0. 00 1.03 100.0 0.0 0.0 100.0[ 22, 599. O|HE/K P Afdt
22. 4 0 ~ 22.5 0 3.27 1.47 1.85
A b 5 &% 3.60 0. 69 0. 00 1.03 100.0 0.0 0.0 100.0[ 22, 699. O|HE/K P Afdt
22.5 0 ~ 22. 6 0 3.30 1.19 1.07
A b 5 &% 3.27 0.95 0. 00 1.24 100.0 0.0 0.0 100.0[ 22, 799. O[HE K P Afdt
22. 6 0 ~ 22.7 0 3. 46 0.84 1. 29
@l b 5 &% 3.23 0.35 0. 00 0.89 100.0 0.0 0.0 100.0| 22, 899. O|HE K P Afdt
22.7 0~ 22.8 0 3. 40 0. 90 1. 00
@l b 5 &% 3.32 0.43 0. 00 0.75 100.0 0.0 0.0 100.0[ 22, 999. O[HE/K P At
22.8 0~ 22.9 0 3. 20 1. 00 1.08
@l b 5 &% 3.25 0.25 0. 00 0.70 100.0 0.0 0.0 100.0[ 23, 099. 0[HE/K P Afdt
22.9 0 ~ 23.0 0 3.27 0. 90 1.05
@l b 5 & 1% 3.24 0.58 0. 00 0.87 100.0 0.0 0.0 100.0[ 23, 199. O|HE/K P Afdt:
23.0 0 ~ 23. 1 0 3.25 0.98 0.98
RN S =X 3.27 1.05 0. 00 0.93 100. 0 0.0 0.0 100. 0| 23, 299. 0| ek PEAH%E
23. 1 0 ~ 23. 2 0 3.25 0.95 1.05
YR SRS ] 3.23 0. 00 0. 00 1.76 100.0 0.0 0.0 100. 0|  23,399.0|7 A7 7 /b &k
23. 2 0 ~ 23.3 0 3.32 0. 00 1.63
RN S =X 3.25 0.00 0. 00 1.29 100.0 0.0 0.0 100. 0  23,499. 07 27 7 /v &%k
23.3 0 ~ 23. 4 0 3.28 0. 00 1. 80
RN S =X 3.24 0. 00 0. 00 0. 86 100.0 0.0 0.0 100.0[  23,599.0(7 &2 7 7 /v &%k
23. 4 0 ~ 23.5 0 3.31 0. 00 1. 24
RN S =X 3.30 0. 00 0. 00 0.92 100.0 0.0 0.0 100.0[  23,699. 07 %27 7 /v &%k
23.5 0 ~ 23. 6 0 3.25 0. 00 1.35
RN S =X 3.25 0.00 0. 00 0. 80 100.0 0.0 0.0 100.0[  23,799.0[7 %27 7 /v &%k
23.6 0 ~ 23.7 0 3.00 0. 00 0. 72
YR S-S ] 2.92 2. 30 0. 00 0. 58 100.0 0.0 0.0 100.0[  23,899.0(7 %27 7 /v &%k
23.7 0 ~ 23.8 0 2.97 0. 00 0.73
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b 5 &% 2.93 2.07 0. 00 0. 60 100.0 0.0 0.0 100. 0| 23,999. 0|7 A7 7 /L &k
23.8 0 ~ 23.9 0 3.01 0. 00 2. 04

A b 5 &% 2.95 2.02 0. 00 0.55 100.0 0.0 0.0 100. 0| 24, 099. 0|7 A7 7 /L &k
23.9 0 ~ 24.0 0 3.03 0. 00 1.95

A b 5 &% 2.93 2.19 0. 00 0.57 100.0 0.0 0.0 100. 0| 24, 199. 0|7 A7 7 /b &k
24.0 0 ~ 24. 1 0 3.02 0. 00 2.23

@l b 5 &% 3.12 2.17 0. 00 0.58 98.0 0.0 2.0 100. 0|  24,299. 0|7 A7 7 /b &k
24. 1 0~ 24. 2 0 2.83 0. 00 2. 17

@l b 5 &% 2.95 1.97 0. 00 0.59 100.0 0.0 0.0 100. 0|  24,399. 0|7 A7 7 /L &k
24. 2 0~ 24.3 0 2.95 0. 00 2. 00

@l b 5 &% 2. 96 0.00 0. 00 0.74 120.0 0.0 0.0 120.0|  24,519. 0|7 A7 7 /b b &k
24. 3 0 ~ 24. 4 20 2.92 2. 00 0. 59

@l b 5 & 1% 3. 00 0.00 0. 00 0.99 77.9 0.0 2.1 80.0 24,599.0(7 %27 7 /v &k
24. 4 20 ~ 24.5 0 2.91 1.94 0.58

RN S =X 3.05 0.00 0. 00 1.31 100.0 0.0 0.0 100.0| 24, 699. 0|7 A7 7 /b &k
24.5 0 ~ 24. 6 0 2. 96 1.97 0.58

YR SRS ] 2. 99 0. 00 0. 00 1.91 100.0 0.0 0.0 100.0|  24,799.0|7 A7 7 /b b &k
24. 6 0 ~ 24. 7 0 3.02 1.96 0. 57

RN S =X 2. 99 0.00 0. 00 0.89 100.0 0.0 0.0 100.0[  24,899.0(7 %27 7 /v &%k
24. 7 0 ~ 24. 8 0 2.97 2. 05 0.58

RN S =X 3.01 0. 00 0. 00 0. 69 100.0 0.0 0.0 100.0[  24,999.0(7 =27 7 /v &tk
24. 8 0 ~ 24.9 0 3.00 2.01 0. 57

RN S =X 3.03 0. 00 0. 00 1.52 100.0 0.0 0.0 100.0[  25,099. 07 =27 7 /v &%k
24.9 0 ~ 25.0 0 3.00 2. 07 0. 56

RN S =X 3.03 0.00 0. 00 1.07 100.0 0.0 0.0 100.0[ 25, 199. 07 2 7 7 /v &%k
25.0 0 ~ 25. 1 0 2.95 1.98 0.58

YR S-S ] 3.05 0. 00 0. 00 1.15 100.0 0.0 0.0 100.0[  25,299. 07 =27 7 /v &k
25. 1 0 ~ 25. 2 0 2.93 2. 22 0. 54
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b 5 &% 3.03 0.00 0. 00 1.02 95.5 0.0 11.5 107.0| 25, 406. 0|7 A7 7 /L &k
25. 2 0 ~ 25.3 7 3.02 2.43 0.55

A b 5 &% 3. 00 0.00 0. 00 0.75 15.0 0.0 0.0 15.0|  25,421.0|7 A7 7 )L Mk
25.3 7~ 25.3 22 3. 00 2. 00 1.15

A b 5 &% 3.03 0.00 0. 00 0. 80 78.0 0.0 0.0 78.0|  25,499.0|7 A 7 7L %k
25.3 22 ~ 25. 4 0 2.99 2.28 0. 68

@l b 5 &% 3.02 0.00 0. 00 0.98 100.0 0.0 0.0 100.0|  25,599. 0|7 A7 7 /b &k
25. 4 0~ 25.5 0 3.03 2. 14 0.53

@l b 5 &% 3.03 0.00 0. 00 1.17 100.0 0.0 0.0 100.0| 25, 699. 0|7 A7 7 /L &k
25.5 0~ 25. 6 0 3.01 0.71 1. 70

@l b 5 &% 3.02 0.00 0. 00 1.10 96. 6 0.0 3.4 100. 0|  25,799. 0|7 A7 7 /b &k
25. 6 0 ~ 25.7 0 3.01 0. 00 1.92

@l b 5 & 1% 3.27 0.00 0. 00 1.03 100.0 0.0 0.0 100.0|  25,899. 0|7 A7 7 /L &k
25.7 0 ~ 25.8 0 3.30 0. 00 1. 40

RN S =X 3.27 0.00 0. 00 0.99 100.0 0.0 0.0 100.0|  25,999. 0|7 A7 7 /b &4k
25.8 0 ~ 25.9 0 3.27 0. 00 0. 54

YR SRS ] 3.25 0. 00 0. 00 0.71 97.3 0.0 2.7 100.0| 26, 099. 0|7 A7 7 /b &4k
25.9 0 ~ 26.0 0 3.28 0. 00 0.76

RN S =X 3.31 0.00 0. 00 0. 80 98. 2 0.0 1.8 100.0[ 26, 199. 0|7 =2 7 7 /v &%k
26.0 0 ~ 26. 1 0 3. 24 0. 00 1. 24

RN S =X 3. 00 0. 00 0. 00 1.10 97.9 0.0 2.1 100.0[  26,299. 07 =27 7 /v &%k
26. 1 0 ~ 26. 1 49 3.00 0. 00 1. 50

RN S =X 3. 00 0. 00 0. 00 0.70 100.0 0.0 0.0 100.0[  26,399.0[7 %27 7 /v &%k
26. 1 49 ~ 26. 2 47 3.00 0. 00 1.15

RN S =X 3. 00 0.00 0. 00 1.20 97.5 0.0 2.5 100.0[ 26, 499. 0|7 =2 7 7 /v &%k
26. 2 47 ~ 26.3 43 3.00 0. 00 2. 30

YR S-S ] 3. 00 0. 00 0. 00 0.85 100.0 0.0 0.0 100.0[  26,599. 07 27 7 /v &%k
26.3 43 ~ 26. 4 34 3.00 0. 00 1. 00
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b 5 &% 3. 00 0.00 0. 00 0.90 100.0 0.0 0. 100. 26, 699. 0| 7 2 7 7 /v &tk
26. 4 34 26. 46 3. 00 0. 00 0. 90

A b 5 &% 3. 00 0.00 0. 00 0. 80 100.0 0.0 0. 100. 26, 799. 0| 7 2 7 7 /v &tk
26.5 46 26. 52 3. 00 0. 00 1. 00

A b 5 &% 3. 00 0.00 0. 00 1.00 100.0 0.0 0. 100. 26, 899. 0| 7 2 7 7 /v b &tk
26. 6 52 26. 54 3. 00 0. 00 0.85

@l b 5 &% 3. 00 0.00 0. 00 1.00 97.0 0.0 3. 100. 26, 999. 0| 7 2 7 7 /v | &k
26. 7 54 26. 46 3.00 2. 00 0.85

@l b 5 &% 3. 00 0.00 0. 00 1.25 100.0 0.0 0. 100. 27,099. 0| 7 2 7 7 /v b &tk
26.8 46 26. 49 3. 00 2. 30 0.55

@l b 5 &% 3. 00 0.00 0. 00 1.25 150. 0 0.0 0. 150. 27, 249. 0| 7 2 7 7 /v &tk
26.9 49 27. 100 3. 00 2. 30 0.85

@l b 5 & 1% 3. 00 0.00 0. 00 1.60 5.0 0.0 0. 5. 27, 254. 0| 7 2 7 7 v Gtk
27.0 100 27. 2 3.00 4. 80 0.85

RN S =X 3. 00 0.00 0. 00 1.90 0.2 0.0 83. 84. 27,338. 0 7 A 7 7 v &k
27.1 2 27. 89 3.00 2. 00 1. 50

YR SRS ] 3. 00 0. 00 0. 00 0.85 10.0 0.0 0. 10. 27,348. 0| 7 A 7 7 /v &k
27.1 89 27. 99 3.00 3.30 0.55

RN S =X 3. 00 0.00 0. 00 0.85 100.0 0.0 0. 100. 27, 448. 0| 7 A 7 7 /v &kt
27.1 99 27. 2 3.00 3.30 0.55

RN S =X 3. 00 0. 00 0. 00 1.80 100.0 0.0 0. 100. 27,548. 0| 7 A 7 7 /v &tk
27.3 2 27. 1 3.00 1.75 0. 50

RN S =X 3. 00 0. 00 0. 00 2.25 100.0 0.0 0. 100. 27, 648. 0| 7 A 7 7 /v &kt
27. 4 1 27. 101 3.00 1. 50 0. 65

RN S =X 3. 00 0.00 0. 00 1.35 95.3 0.0 4. 100. 27, 748. 0| 7 A 7 7 /v &kt
27.4 101 27. 100 3.00 1. 50 0.55

YR S-S ] 3. 00 0. 00 0. 00 1.35 100.0 0.0 0. 100. 27, 848. 0| 7 A 7 7 /v &tk
27.5 100 27. 71 3.00 1. 50 0.55
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b 5 &% 3. 00 0.00 0. 00 1.55 100.0 0.0 0.0 100. 0|  27,948. 0|7 A 7 7 /)L &k
27.6 71 ~ 27.7 74 3. 00 1. 70 0.55

A b 5 &% 3. 00 0.00 0. 00 1.10 93.0 0.0 7.0 100. 0| 28, 048. 0|7 A7 7 /L &k
27.7 74 ~ 27.8 39 3. 00 2. 00 0. 50

A b 5 &% 3. 00 1.50 0. 00 0.45 100.0 0.0 0.0 100.0| 28, 148. 0|7 A 7 7 /L b &k
27.8 39 ~ 27.9 39 3. 00 1. 60 0. 60

@l b 5 &% 3. 00 1.50 0. 00 0.25 100.0 0.0 0.0 100.0|  28,248. 0|7 A7 7 /b &k
27.9 39 ~ 28.0 39 3.00 1. 60 0. 60

@l b 5 &% 3. 00 1.50 0. 00 1.55 100.0 0.0 0.0 100. 0|  28,348.0|7 A7 7 /L &k
28.0 39 ~ 28.0 139 3. 00 1.65 0. 50

@l b 5 &% 3. 00 1.50 0. 00 1.55 100.0 0.0 0.0 100. 0|  28,448. 0|7 A 7 7 /L &k
28.0 139 ~ 28. 2 95 3. 00 1. 80 0. 30

@l b 5 & 1% 3. 00 0.00 0. 00 2. 40 100.0 0.0 0.0 100.0| 28, 548. 0|7 A7 7 /L b &k
28. 2 95 ~ 28.3 85 3.00 1. 70 0.55

RN S =X 3. 00 0.00 0. 00 1.45 100.0 0.0 0.0 100.0| 28, 648. 0|7 A7 7 /b &k
28.3 85 ~ 28.3 185 3.00 2. 00 0. 60

YR SRS ] 3. 00 0. 00 0. 00 1.35 100.0 0.0 0.0 100.0| 28, 748.0|7 A7 7 /b b &4k
28.3 185 ~ 28. 6 2 3.00 2. 00 0. 65

RN S =X 3. 00 0.00 0. 00 1.15 100.0 0.0 0.0 100.0[  28,848.0(7 A2 7 7 /v &tk
28. 6 2 ~ 28.6 102 3.00 1.55 0. 60

RN S =X 3. 00 0. 00 0. 00 0.35 100.0 0.0 0.0 100.0[  28,948. 0|7 =2 7 7 /v &k
28.6 102 ~ 28.8 1 3.00 1. 50 0. 65

RN S =X 3. 00 0. 00 0. 00 1.55 100.0 0.0 0.0 100.0[ 29, 048. 0|7 =2 7 7 /v &tk
28.8 1~ 28.8 101 3.00 2.05 0.55

RN S =X 3. 00 0.00 0. 00 0.85 100.0 0.0 0.0 100.0[ 29, 148. 0|7 =2 7 7 /v &k
28.8 101 ~ 28.9 100 3.00 1.95 0. 65

YR S-S ] 3. 00 0. 00 0. 00 1.00 100.0 0.0 0.0 100.0[ 29, 248. 0|7 =2 7 7 /v &%k
28.9 100 ~ 29.0 100 3.00 3.20 3.10
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b 5 &% 3. 00 0.00 0. 00 0.95 100.0 0.0 0. 100. 29, 348. 0| 7 2 7 7 /v &tk
29.0 100 29. 88 3. 00 2. 00 1. 10

A b 5 &% 3. 00 0.00 0. 00 2.00 100.0 0.0 0. 100. 29, 448. 0| 7 2 7 7 v Gtk
29. 1 88 29. 71 3. 00 1.45 0.75

A b 5 &% 3. 00 0.00 0. 00 1.65 100.0 0.0 0. 100. 29, 548. 0| 7 2 7 7 v b &tk
29. 2 71 29. 68 3. 00 1.45 0. 80

@l b 5 &% 3. 00 0.00 0. 00 1.65 100.0 0.0 0. 100. 29, 648. 0| 7 2 7 7 v &tk
29. 3 68 29. 68 3.00 1.45 0. 80

@l b 5 &% 3. 00 0.00 0. 00 2.10 100.0 0.0 0. 100. 29, 748. 0| 7 2 7 7 v &tk
29. 4 68 29. 76 3. 00 3.70 1. 60

@l b 5 &% 3. 00 0.00 0. 00 1.90 100.0 0.0 0. 100. 29, 848. 0| 7 2 7 7 /v | &tk
29.5 76 29. 82 3. 00 3. 40 1. 90

@l b 5 & 1% 3. 00 0.00 0. 00 1.25 100.0 0.0 0. 100. 29, 948. 0| 7 2 7 7 /v &k
29. 6 82 29. 100 3.00 2. 30 0. 65

RN S =X 3. 00 0.00 0. 00 1. 40 100.0 0.0 0. 100. 30, 048. 0| 7 A 7 7 v | &tk
29.7 100 29. 97 3.00 2. 60 0. 80

YR SRS ] 3. 00 0. 00 0. 00 1.90 100.0 0.0 0. 100. 30, 148. 0| 7 A 7 7 v &kt
29. 8 97 29. 99 3.00 2.15 0.75

RN S =X 3. 00 0.00 0. 00 1.70 100.0 0.0 0. 100. 30, 248. 0| 7 A 7 7 v &k
29.9 99 30. 100 3.00 2. 40 0. 70

RN S =X 3. 00 0. 00 0. 00 1.70 100.0 0.0 0. 100. 30, 348. 0| 7 A 7 7 v &tk
30.0 100 30. 100 3.00 2. 20 0. 80

RN S =X 3. 00 0. 00 0. 00 1. 40 100.0 0.0 0. 100. 30, 448. 0| 7 A 7 7 v | &tk
30.1 100 30. 100 3.00 2.15 2. 10

RN S =X 3. 00 0.00 0. 00 1.65 100.0 0.0 0. 100. 30, 548. 0| 7 A 7 7 v &k
30.2 100 30. 85 3.00 2. 00 2. 80

YR S-S ] 3. 00 0. 00 0. 00 1. 40 100.0 0.0 0. 100. 30, 648. 0| 7 A 7 7 v &kt
30.3 85 ~ 30. 85 3.00 2. 00 0. 80
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b 5 &% 3. 00 0.00 0. 00 1.65 100.0 0.0 0.0 100. 0| 30, 748. 0|7 A7 7 /L &k
30. 4 85 ~ 30. 6 1 3. 00 2. 00 0. 80

A b 5 &% 3. 00 0.00 0. 00 1.80 100.0 0.0 0.0 100.0| 30, 848. 0|7 A7 7 /L &k
30. 6 1~ 30.7 3 3. 00 0. 00 1. 80

A b 5 &% 3. 00 0.00 0. 00 1.85 100.0 0.0 0.0 100. 0| 30, 948. 0|7 A7 7 /L &k
30. 7 3~ 30. 8 1 3. 00 2. 00 4.55

@l b 5 &% 3. 00 0.00 0. 00 2. 40 100.0 0.0 0.0 100. 0| 31, 048. 0|7 A7 7 /L &k
30. 8 1~ 30.8 101 3.00 1. 60 1. 10

@l b 5 &% 3. 00 0.00 0. 00 1.80 100.0 0.0 0.0 100. 0| 31, 148. 0|7 A 7 7 /b b &k
30.8 101 ~ 31.0 1 3. 00 1. 60 1. 50

@l b 5 &% 3.18 1.50 0. 00 0.60[ -100.0 0.0 200.0 100.0|  31,248. 0|7 A7 7 /)b &k
31.0 1~ 31.0 101 3.18 1. 50 0. 60

@l b 5 & 1% 3. 00 1.50 0. 00 2.10 100.0 0.0 0.0 100. 0|  31,348. 0|7 A7 7 /b b &k
3.0 101 ~ 31.2 1 3.00 1. 50 1. 60

KAy H M 3. 00 1.50 0. 00 2.15 100.0 0.0 0.0 100.0[ 31,448.0(7 27 7 /L k&%t
31.2 1~ 31.2 101 3.00 1. 50 1. 40

KAy W H M 3. 00 2.80 0. 00 1.25 -88.8 0.0 188.8 100.0[ 31,548.0(7 27 7 /L h&fdk
31.2 101 ~ 31.3 100 3.00 1. 50 1. 40

Ko H HH 3. 00 1.50 0. 00 2.00 14.0 0.0 0.0 14.0|  31,562.0|7 A7 7 /b h&f%E
31.3 100 ~ 31.4 12 3.00 3.00 2. 10

RN S =X 3. 00 1.50 0. 00 1.90 30.0 0.0 0.0 30.0[ 31, 592. OHEAKMEAE
31.4 12 ~ 31.4 42 3.00 3.00 1. 50

RN S =X 3. 00 1.50 0. 00 2. 00 56.0 0.0 0.0 56.0[ 31, 648. O HEAK LA
31.4 42 ~ 31.4 98 3.00 1. 50 2. 10
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